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GENERAL KNOWLEDGE

1. A/ 2025 ¥ gHar fafermd & @1 geaft W e arer siafer anf & wn am g ¢

(A) Tt e (B) SRt & (C) ST T (D) g foremr
What is the name of the astronaut who returned to earth along with Sunita Williams in March 2025 ?
(A) Victor Glover (B) Jeremy Hansen (C) John Glenn (D) Butch Wilmore
2. TIHE U 3T 8 WRa &1 58 91 S8 319AR0A =ifya fohan o, Frfefaa & @ fhm o=a #
®me e
(A) eI (B) HEAICY (C) wfoTgL (D) WEWTSZ
Madhav National Park that was declared India’s 58" Tiger Reserve is situated in which of the following
States ?
(A) Meghalaya (B) Madhya Pradesh (C) Manipur (D) Maharashtra
3. fr=ferfea o @ fopaent 2024 § ‘G ' | Tt fopam w7
a. . TH. WHHRA
b. =tedt =T f&g
c. F IR
d. swsa fag
9 fey mu forebedt @ T S AT ;
(A) Shaet a (B) ®haed ad b (C) el a, bd ¢ (D) e a, b 9 d

Who among the following has been awarded ‘Bharat Ratna’ in 2024 ?
a. M. S. Swaminathan
b. Chaudhary Charan Singh
c. Karpoori Thakur
d. Harmanpreet Singh
Choose the correct answer from the options given below :

(A) Only a (B) Onlyaandb (C) Onlya,bandc (D) Only a,bandd
4. RIS IS 3Ry fEfafad d @ fra o d '@ @ 7

(A) HETSCl (B) ITTIH (C) BiteTe (D) e

Mhadei Wildlife Sanctuary is located in which of the following States ?

(A) Madhya Pradesh (B) Uttar Pradesh (C) Chattisgarh (D) Goa
5. TUR SId 1 HYU 9T 3R 3I0c1 | Shl T&dl & Sl J&Ia: 41 8l 8

(A) HicT=m HEHS HT (B) WY ®HS HT

(C) hicyrm HIEhe 1 (D) Shicerm 3Tt

Our tooth crown remains capped with hard enamel which is principally made of

(A) Calcium Carbonate (B) Magnesium Phosphate

(C) Calcium Phosphate (D) Calcium Oxalate
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6. TA.Z.H. 2020 % JFHR HreATyeh forenmer fren & r=wia foha wenmatt w61 wnfiet fomem o 8 7

(A) T 6T HaT 9
(C) T 5T el 8

(B) T 48 HT 6
(D) SeTT 6T HeTT 8

Which classes are included in the middle school education according to NEP 2020 ?

(A) Class 6 to Class 9
(C) Class 5to Class 8

(B) Class 4 to Class 6
(D) Class 6 to Class 8

7. Tmafafeaa & 9 foru gau fen <6 staamon = yfdqures fomam or 2

(A) &t 3Rfere
(C) W T

(B) T=HI TIH=<
(D) 3UYF H ¥ IS TE

Who among the following propounded the concept of Integral Education ?

(A) Sri Aurobindo
(C) Swami Vivekanand

8. FI — | ol F — IIh TTY GHleTd L |
[

(B) Swami Dayanand
(D) None of the above

et - il
a. Toers forem I T1.5.9. 2020 %1 I1EH 23
b. Senfirht =1 T IIl. TT.3.4%. 2020 T LT 20
c. SaTeETReh farer . TA.3.9. 2020 T 3T 21
d. g forem IV. T1.3. M. 2020 T I 15
e
(A a=IV,b=1,c—=1l,d-1l B) a=IV,b-1,c—=1l,d-1
(C) a=lL,b=IV,c—1ll,d-1l (D) a=IL,b=IV,c—=Il,d=1l
Match List — | with List — II.
List - | List— I
a. Teacher education I. Chapter 23 of NEP 2020
b. Technology use Il. Chapter 20 of NEP 2020
c. Professional education [ll. Chapter 21 of NEP 2020
d. Adult education IV. Chapter 15 of NEP 2020

Choose the correct answer from the code given below :

Code :
(A a=IV,b=1,c—=1l,d-1l
(C)a=Lb=1IV,c—Illl,d-1l

9. TIZH 2020 3. .H 3. w1 Y B
(A) TRISeh STeaTaE St gt 37 fre
(C) s sht I=a e wg @yt
In NEP 2020, ECCE stands for
(A) Early Childhood Care and Education
(C) Enhanced Childhood Caring and Education

M -3-

B) a=IV,b—1,c—1ll,d—Il
(D) a=1,b=1V,c—1II,d—1Il

(B) IR s=U= shfga farem
(D) =9 1 P @A TF e

(B) Early Childhood Centered Education
(D) Efficient Childhood Care and Education
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10. T=fafed & @ ®F T wyRa § TS Gediehd T JeEE IR (NAAC) T e ®ishd 8 7

11.

12.

(A) BT 1 foxfia TgmaT yem S

(C) = T3ren TEA™T T T

(NAAC) in India ?

(A) Providing financial aid to student
(C) Accreditation of higher education institutions

(B) Tervaforamer™ vt qfien meifSa e

(D) TEAHI H Z=H 618 1 fafrema

Which one of the following is the primary focus of the National Assessment and Accreditation Council

amfeies foehra % foT PURA gfseenior freaferfiaa & & fereres femm & suwr 2 2

(A) THIEA g
(C) 39 ¥

(B) U. Hl. 5. 37egel He™
(D) SHH | & g T

(B) Conducting university entrance examinations
(D) Regulating tuition fees in institutions

PURA approach to economic development is the brain child of who among the following ?

(A) Manmohan Singh
(C) Amartya Sen

(B) A.P.J.Abdul Kalam
(D) None of the above

T — | I G — 1| & GHAT L TUT FEAT o A 1T T He & T 3T HT =TI HIT |

g -1 T -l

(=) (Tdra sa)
a. TSy |. e TSR 3T
b. BETG 1. fom et Tedia 3w
c. 319Y 1. Sgradt TS 3a™
d. feamas IV. heetred TS 3T
He

(A) a=IV,b—1ll,c—1l,d—1
(C) a-lll,b=1V,c—1,d=1I

B) a—IV,b—1ll,c—1,d~Il
(D) a=lll,b—1V,c—Il,d—1

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1
(State)
a. Rajasthan
b. Chhattisgarh
c. Assam
d. Himachal Pradesh
Code :
(A) a=1IV,b=1Ill,c=1Il,d-1
(C)a-ll,b-1V,c—1,d=-1l

List -1
(National Park)

Manas National Park

. Pin Valley National Park

. Indravati National Park

Keoladeo National Park

B) a—IV,b—1ll,c—1,d—1I
D) a-lll,b—1V,c—1l,d—1
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13, T&m + 20 gora: fr=fofea & @ foroa awafud g 7

N UREREEE (B) gaq fesra

(C) SEE frE (D) I GR&TOT

Rio + 20 is mainly related to which of the following ?

(A) Economic development (B) Sustainable development
(C) Population control (D) Forest protection

14, T AR w71 3d 2 ?

(A) T Aeaeh ©ie UgeH (B) T Fa Wie Ug=
(C) 3T o @i g™ (D) T T wie U8
What does ‘ANPR’ stands for ?
(A) Automatic Network Plate Recognition (B) Automatic Number Plate Recognition
(C) Advanced Number Plate Recognition (D) Automated National Plate Recognition
15.  ‘gaq faem’ &1 foar g av sifdaa § smn 2
(A) 1972 (B) 1980
(C) 2007 (D) v | & i T
In which year did the idea of ‘Sustainable development’ came into existence ?
(A) 1972 (B) 1980
(C) 2007 (D) None of the above
16. fr=fefad o @+ v fiae=a 9 8 ?
(A) HiET (B) Eiferm
(OREEEE (D) <hIsd HIFISTFETES
Which one of the following is a greenhouse gas ?
(A) Methane (B) Helium
(C) Hydrogen (D) Carbon monoxide
17. Trafafad @ @ fpa 2024 § Teet wifd QEbr & gonfa fom wm ¢
(A) e & (B) 3T | g
(C) Tl g (D) FEm TR
Who among the following was awarded the Nobel Peace Prize 2024 ?
(A) Mother Teresa (B) Aung San Suu Kyi
(C) Malala Yousafzai (D) Nihon Hidankyo
18. Tr=feiRad # & 1 e HAM a1 HfeHe fee Jien < qoia: 97 7 o 7
(A) TETeHT et (B) JaT&l ot 48®
(C) TER A (D) HIAAHT 37t el 3TATG
Who among the following leader of Congress was totally in favour of Cabinet Mission Plan ?
(A) Mahatma Gandhi (B) Jawahar Lal Nehru
(C) Sardar Patel (D) Maulana Abul Kalam Azad
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19. 2005 H ST BT FATSN Werhict I Tefieh v &1 7 ?

(A) TTTd HEENR | Mfd TMd s (B) dfvah e SR S=FT
(C) TRTHTT™ GuUT &l R ST (D) TERE NHT % IS I HH BT
What is the primary purpose of Kyoto protocol which came into effect in 2005 ?
(A) Establish peace in the pacific ocean (B) Create a global carbon market
(C) To regulate ocean pollution (D) To reduce the emission of greenhouse gasses
20. 1857 fagig s g&& =a
a. T arefieTe
b. TS UTUSY
C. Sglgl AT ST
d. Wit R s
3 fo U ferpedt § @ T SO IR ;
(A) 9 a, b, ¢ (B) e b, ¢, d (C) % d, a, b (D) e ¢, d, b

Main leaders during the Revolt of 1857
. Rani Laxmibai

. Bahadur Shah Zafar

a
b. Mangal Pandey
c
d. Mir Nisar Ali

Choose the correct answer from the options given below :
(A) a, b, conly (B) b, c,donly (C) d,a, bonly (D) c,d, bonly

21, T G I A TaTE TITCA! o FeW H ffiied § § $HH-8 HUF el 8 ?
a. WRA ® T T el Tey 9L |
b. T <hT 3TH SN § 8 |
c. TS AUT S| T YOl <ht TgrEeh Afeat § |
d. |F 7 T % gIfe q¢ hl YW TEEe TG 8 |
3 fom e famre 3 & W I g
(A) Had a, b, ¢ (B) e b, ¢, d (C) %ad a, c, d (D) %ael a, b, d
With reference to river Ganga drainage system, which of the following statements are correct ?
a. The Ganga river system is largest in India.
b. Ganga rises in the Uttarkashi.
c. Satluj and Jhelum are tributaries of Ganga system.
d. Son river is its major right bank tributary of Ganga.
Choose the correct answer from the options given below :
(A) a, b, conly (B) b, c,donly (C) a,c,donly (D) a, b,donly
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20, WeR el Frefefeaa T & frg co o fX@ & 7

(A) ST (B) <M (C) wrd (D) dTfeh&dT
Khyber Pass is situated in which of the following countries ?
(A) Bangladesh (B) Bhutan (C) India (D) Pakistan

23, ‘siiaNfeE g fefefea § @ fergen gfom 2 2

(A) HETERRIE TR (B) gl 1 Tuid

(C) IrqvSetT gre far=amd (D) F=HT T TecaTehyvl fa=ma
‘Coriolis effect’ is a result of which of the following ?

(A) Ocean currents (B) Earth’s rotation

(C) Atmospheric pressure differences (D) The gravitational pull of the moon

24. Tddl A, S AU efus afifa (10C) St 3reger I ST areft gael Afgen s+, f=forfaa

Tafracmat ?
(A Frars (B) Jrefera
OEIEIS (D) HYeRT T ITHTEHT

Kirsty Coventry, who became the first woman to be elected as President of the International Olympic
Committee (I0C) is from which of the following countries ?

(A) Zimbabwe (B) Australia

(C) Brazil (D) United States of America

25, FrfeRad § & SM-T1/8 TS FHEE i, 2000 % 39T /8 7
1. 2045 Teh SEEAT TR HET |
2. ATq Yegel I 100,000 Sfiferd =i T 100 & = AT |

= feu MU e @ TE I H T HINT

He:

(A) I 1 (B) e 2

(C) 1 3R 2 gt (D) TdT 1 3WAE 2

Which of the following is/are the objectives of National Population Policy, 2000 ?
1. Population stabilisation by 2045.
2. Reduce maternal mortality rate to below 100 per 100,000 live birth.

Select the correct answer from the code given below :

Code :
(A) Only 1 (B) Only 2
(C) 1and 2 both (D) Neither 1 nor 2
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26.

27.

28.

frefafad & @ =1 Teg vfrg 9ot s9R € ?

1. I TR

2. §fg G

3. IRd | fopeft ot feuitoredt & oy we feuifsredt @man

= feu T e @ TE IW w1 T HC

He

(A) had 1 (B) whaet 1 3 3 C) shddl 2 31T 3

Which among the following are the best known capital markets ?
1. The stock market
2. The bond markets
3. A depository account with any of the depositories in India
Select the correct answer from the code given below :
Code :
(A) Only 1 (B) Only 1 and 3

W § foerhl bl Tmo fepeq <1 7
(A) S, 2. fogen wa 9. 3. €. @

Who established FICCI in India ?
(A) G.D.Birlaand J. R. D. Tata
(C) Mahatma Gandhi and Dadabhai Naoroji

(C) Only2and 3

GET IT ON
Google Play

D) el 1 3T 2

(D) Only 1and2

) ) (B) NS Tpierd Ta Sft. & forgen
(C) WETeHT el Te grers TSt (D) EEEE

IHEH T . IR, . I

(B) Purshottamdas Thakurdas and G. D. Birla
(D) Purshottamdas Thakurdas and J. R. D. Tata

Tt — | %1 = - 11 % |1 gafora hifse g gieei & i fow T e @ w8 3w g |
gt - | T -1
(ATreRT % TR (s7ge=h)
a. Tafer = Tmer Tmma 1 TR | ST - 14
b. &Y % STYR W WeWTd | FLa II. 3TIET - 15
c. 3T shi HHMAI lIl. 3TE= - 16
d. TR 1 3 IV. 3TEE - 17
%R
(A) a- b—1ll c—1l d-1v
B) a-— b -1l c—Il d-1v
(C) a- b -1l i\ d-1l
(D) a —II b-1 c—1l d-1v
Match List — | with List — Il and select the correct answer from the code given below the lists.
List -1 List -1
(Types of Rights) (Article)
a. Right of equality before the law I. Article —14
b. Protection from discrimination on religious ground II. Article—15
c. Equality of opportunity Ill.  Article — 16
d. Abolition of untouchability IV. Article —17

Code :

(A) a-—1I b-Il
(B) a—1I b-Ill
(C) a-I b-Ill
(D) a-1 b-1

c—Ii
c—Il

c—1Vv
c—Ii

d-—
d-—

v
v

d-1l

d-—

v
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29. ArREHT hi Iftrenan gew e fuifa 2

The maximum number of members in the Lok Sabha is fixed at

GET IT ON
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(A) 530 (B) 545 (C) 550 (D) 552

30. F — I %I T — 1| % |1 GAfId Hife qer gieei & e few e e @ w9& 3w g |

A -1 gt - I
(STTE=R) (Fdenfes wraam)
a. ITT=E 50 | Tsgufa T HRTRIT
b. 3TT=E 143 II. =ATIATICTERT 3R SIIUTICTeRT o STe JeFRTT
c. ITT=E 61 lll. <Teh HaT TR T BRI
d. 3T=E 320 IV. Hated AT 1 HATEHR TR
He
A) a-Il b-IV c-I d—1i
B) a-ll b—1 ¢c—IV d-Il
C) a-ll_ b-1 c-IV d-1
(D) a-ll b-IV c-I d—Il

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1 List—1I
(Article) (Constitutional Provision)
a. Article 50 I. Impeachment of the President
b. Article 143 Il. Separation between Judiciary and Executive
c. Article 61 lll. Functioning of Public Service Commission
d. Article 320 IV. Advisory Jurisdiction of the Supreme Court
Code :
(A) a=1Il b-IV c-I d-1lil
(B) a-1Ill b-I c—1Iv d-Ii
(C) a-II b-1 c—1v d-1lil
(D) a-M b-IV c-I d-Ii

38


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

NG
EDUCATION
31. H-T1 g¥F A & fagea ¥ wmfRh R 2
(A) Shiderg (B) FeefaTe
(C) SATSTeITG (D) HreFiTe
Which philosophy is related to ‘Principle of Utility’ ?
(A) Naturalism (B) Realism
(C) Pragmatism (D) Idealism
32. ‘Rufecish’ AT T&ieh o 1@ o
(A) =T (B) &
(C) g (D) ST Sreht
The author of the book ‘Republic’ is
(A) Plato (B) Rousseau
(C) Socrates (D) John Dewey

33. ‘Uod WvEd Ud R &1 Ig Wl &

(A) esterg i (B) FmefaTe
(C) wepfaag i (D) SITSIEITE
‘Values are absolute and unchanging'’ this is the belief of

(A) Idealism (B) Realism

(C) Naturalism (D) Pragmatism

34. ‘HEISH AT, ‘TRE [ AU ‘TR 0T AR §

(A) 99 <3 @ (B) Sg ¥H &

(C) &I €A | (D) e < |
‘Samyak Astha’, ‘Samyak Jnana’ and ‘Samyak Aacharan’ are related to

(A) Jainism philosophy (B) Buddhism philosophy

(C) Islamic philosophy (D) Vedanta philosophy

GET IT ON
Google Play
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35. JUTAATE & IR f<mH T F=I1 8 ?

What is the ultimate reality according to Realism ?
(A) Nature (B) Matter

(C) Soul (D) God

36. it INfSE &% IR, T aTcTeh ! fohd YR enfa foram S =nfe 2
(A) TR Tfiehfa o gr (B) Afees foream = gma
(C) T8 % g (D) &t AT Wfad s G
According to Sri Aurobindo, how should a child be disciplined ?

(A) By social approval (B) By moral education

(C) By punishment (D) By force or power

37. Tl fadeH< o AR e 1 S1f~w 3Igewa F1 g1 =Afey ?

(A) ST ferehre (B) erer fereprar

(C) Imefensh fasE (D) SeETRIh ferehra
According to Swami Vivekanand, what should be the ultimate aim of education ?
(A) Physical development (B) Moral development

(C) Spiritual development (D) Vocational development

38. WIS o ATHTISTh- 3T MR W AR faft= axgt # fawrsi seerrar &

(A) HTHTRTe T (B) GraTTeh Tierfierar

(C) TS FUT=T (D) | ferepra

Division of society into socioeconomic groups in a different hierarchical order is known as
(A) Social stratification (B) Social mobility

(C) Social transformation (D) Social development
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39. YN HfIe™ % HH-T T8¢ o IF=ad TG hl I Sfd, STHEfd St e 3= fuser
Tt & Sregforeh e % ford IR & TS o AR fey 7 7

(A) 4273 (B) 624

(C) 464 (D) 754

Under which Article of the Constitution, the Indian states are given right to promote educational
interests of the SCs, STs and OBCs of India ?

(A) 42nd (B) 62nd

(C) 46th (D) 75t

40. “Toren wrTfoTeR uftad 1 STTETOT Kt & T8 B fohEeh grRT fem w2

(A) gfdw (B) SITTEA

(C) e (D) et
‘Education follows social change’ by whom was this statement given ?
(A) Durkheim (B) Johnson
(C) Ottoway (D) Dewey

41, Trafafea # 9 forg o3y v gt oft o &9 | for@a § I8 S @ 3R o 9ug do foshiad

w8 ?
(A) qerehl (CIEEUGERSEIE!
(C) Wed e (D) HEPfd
Which of the following is inherited and developed by man as a social being over the ages ?
(A) Technology (B) Scientific temper
(C) Value system (D) Culture

42, Tr=fafed & @ eH-81 yr/a § @i IiEdd g STeshde T8l 8 7

(A) AT T 9T (B) Terem

(C) |TEHideh el (D) YT ! HTEAT
Which of the following is not a constraint of social change in India ?

(A) Fear of newness (B) Education

(C) Cultural inertia (D) Feeling of isolation
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43. T ¥ @ FH-T wu Tehfa W e % e kIR H @l i R 7
(A) Trem deapfa 1 weemor et 2

(B) foremm wepfa o1 gwaiaRwr et 2

(C) Tnen faftrar deepfaat o 9g ey et B

(D) forer wepfer % forehra & wETET et B

Which of the following statements is not correct about the impact of education on culture ?
(A) Education preserves culture
(B) Education transmits culture
(C) Education creates differences among different cultures
(D) Education helps in development of culture

)
)
)
)

44, STk GHTSIT & 6 8

(A) 3TTET HI (B) ST U4

(C) Hed gt (D) TSt g
The father of Educational Sociology is

(A) Auguste Comte (B) George Payne
(C) Max Weber (D) Emile Durkheim

45. TH B T T A B T HEAT & “TEUA Mk BT A4 | THH B GR - W@eHR
i w1 =T fohn ST @1 B

(A) Sfcreerd (B) T
(C) &fayfd (D) FeritehToT

A child failing in the examination says “The question paper was very difficult”. Which defence
mechanism is being used by the child ?

(A) Substitution (B) Withdrawal
(C) Compensation (D) Rationalization

46. ‘feifegar grafm 2

(A) 2§ (B) T &

(C) SieH | (D) TOMT S I
‘Dyslexia’ is related to

(A) Listening (B) Reading
(C) Speaking (D) Calculating
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47.

48.

49.

50.

T A 1 9 HH-|1 o=ries diharceds s § faswibd T8 g g 7

Which of these abilities does not develop during formal operational period ?
(A) Hypothetico-deductive thinking
(B)
(C) Conservation of quantity
(D)

Reflective abstraction

Logical thinking

fF=fafaa @ @ v-ar fagra A o 8 gefRa g 7

(A) TawIRal g B) fg-=re fagma

(C) id~i=t g (D) wHH-3Fe fgr
Which one of the following theory is associated with transfer of learning ?

(A) Need theory (B) Bi-factor theory

(C) Contingency theory (D) ldentical-element theory

GET IT ON
Google Play

it &9 8 oe Bl % e & o frefefga 8 @ sim-ar feor som swgew g ?

(A) HaEH HRE (B) i STTCTH
(C) a7 gfg /= (D) 3d it
Which of the following approach of teaching is appropriate for a mentally retarded child ?
(A) Enrichment programme (B) Individualized instruction
(C) Acceleration (D) Advanced coaching

fdacd o WO & ol S “Ttieh WTE erea wiieqor fohd JehR ol IUhTT 8 7

(A) I (B) TR wiegor
(C) Treafor wrot (D) werdt weor
Which type of tool is ‘Rorschach Ink Blot Test’, used for measuring personality ?
(A) Inventory (B) Situational test
(C) Rating scale (D) Projective test
-14-
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51. T freres o ferenfial & smrel steme 2 ol o1 == 68 B 77 % fawy o uftet v @
g fope wehR w1 FcoM 7 7
(A) Sfers e (B) SAfeRTa foca
(C) =HeETRIh s (D) T e

A teacher discusses with students about ‘How to select appropriate subjects for further studies’ ?
Which type of guidance is this ?

(A) Educational guidance (B) Personal guidance

(C) Vocational guidance (D) General guidance

52. 3Tl o Ueh {oalul sl a9 el STaT 2, 56 37
(A) Thal W THH &9 & foafia &
(B) TH TH HI T H GHY TH (e &l
(C) HeT T higd &
(D) HET % THI ol TG €9 & faaid &

A distribution of scores is said to be skewed when scores are
(A) evenly distributed over the scale
(B)
(C) concentrated on the central part
(D)

bunched on one side as compared to other side

symmetrically distributed on both the sides

53. “STcTehl AT SCIHIST <l FATMCHS qfg A A1efeh = & & 1”7 THb I IRehedHT o TIeqv &g
3T @ fergeht T fohen ST AT B 7
(A) TS T TdreoT
(B) T 3ATE TgarEY
(C) Tsh A TEeor fagerwor
(D) "H-feget -wlieqon

Which of these can be used to test the null hypothesis “There is no significant difference between boys
and girls on emotional intelligence” ?

(A) Chi-square test
(B)
(C) One way analysis of variance
(D) Mann-Whitney U-test

Product-moment correlation
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54,

55.

56.

57.

T TETSIdT 956 8 —16 ¥ + 16 % 19 &1 &7 2T 2

In normal probability curve the area that lies between —1cto + 15 is

(A) 68.16% (B) 68.26%
(C) 68.36% (D) 68.46%

s T Tmfse @ =est === Bq S fafy gnfi
(A) Fferersreh =rrest (B) T=8 =y
(C) Tlishd e (D) el =ames

For a heterogenous population, the suitable method for sampling will be
(A) Convenient sampling (B) Cluster sampling
(C) Stratified sampling (D) Quota sampling

iy Y form faftr § “smror-gwme g’ wfuq femam san 2 ¢

(A) TaeT oy (B) Ufartaes fafer

(C) vt farfer (D) STereh fafer

In which method of research the ‘cause-effect relationship’ is established ?
(A) Survey method (B) Historical method
(C) Descriptive method (D) Experimental method

frefafad & & H-a1 HeA TRaTrs FTE- & Ty | 98 T8l 8 7

(A) 3ThT 3£ ToreITer™ <t HRIYUTet § GUR ST &
(B) 35 TROTHT o1 AR e ST Tehar @
(C) Toramerft e == & MYl Bid 8

(D) 3HH aTEAfeh hefl Uifefd o fofu arsfoes Tamem @i Srar 8

Which of the following is not correct about ‘Action Research’ ?
(A
(B

C

D

) It aims at improving the function of school
) lts results can be generalized
(C) The school teachers are the researcher themselves
(D)

It finds out the real solution for real classroom situation

-16-
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58. & U9 Gl HIEATehR 1 I €9 § TN fehall 1T 7

59.

60.

61.

(A) TOTTC SFTH-4T |
(C) aUHTeH® ITE-aH |

(B) A& IHH H

(D) HETEHTH - |

In depth and open-ended interviews are mainly used in

(A) Qualitative research

(C) Descriptive research

Ul TUTET YeReH o ST g3 TR Hifereh Ffokd o fershr w1 S foRd wmar @ ¢

(A) SRTEETS
(C) SfF T ==

(B) Survey research

(D) Correlational research

(B) s3fepra
(D) f&a1 wa Tew

GET IT ON
Google Play

To whom goes the credit of developing a comprehensive philosophy and original strategy of total

quality management ?

(A) Crosby

(C) Deming and Juran

POSDCORB &1 ¥ fera feam ?
(A) &
(C) T Tfereh

Who has given the concept of POSDCORB ?
(A) Henry

(C) Luther Gulick

. &5], ok % I hi-d1 faga fean mm ¢

(A) ISITEA: T Yo o &9 H
(C) TRl Teh Y& o &9 |
Which theory was given by F. W. Taylor ?

(A) Administration as management

(C) Bureaucracy as management

-17-

(B) Ishikawa
(D) Hill and Taylor

(B) <R
(D) Srat

(B) Taylor

(D) Dewey

(B) ST Taeer

(D) EHI JeE

(B) Scientific management

(D) Time management
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62.

63.

64.

65.

= § F-|1 ug PERT i ufshan ® 7€ 8 7
(A) 3ceTAT I TR T
(C) TWI AN 1 FER0 AT

Which of the following is not a step in the process of PERT ?
(A) Defining the objective

(C) Making time estimates

frferiga @ & =9 fFoRm-fag 4 g=fREa 2 7
(A) HiTg
(C) HhierE

Yoo T YFH 3T a9y e <ar 8
(A) TITSHTCHS  STTATEH T
(C) TTATH Jhg W
The modern approach to management focuses on

(A) Organizational compliance

(C) Organizational growth

(B) /I v B=AT dUR T
(D) SNTd A T FeRor &

(D) Making cost-estimate

(B) . firer
(D) TH. €. i\
Which of the following is related to theory of decision making ?

(A) Sears
(C) Griffiths

(B) D. Miller
(D) H.A.Simon

(B) TSHTCHS TSR T

(D) Je=ehl o TR0 W

(B) Organizational concerns

(D) Supervision of managers

GET IT ON
Google Play

(B) Preparing a work-breakdown structure

“Sqea ek et H g for R e fafive cew srern e < i < 3R feRi 3w

Jafeder 99T B |7 T8 foREent U B ?
(A) Sifst 3R,
(C) <t Td e

(B) & ea™
(D) STeT® HelTR

“Leadership is an interpersonal influence exercised in a situation and directed toward the attainment of

a specialized goal or goals”. Who's statement is this ?
(A) George R. Terry

(C) Koonz and Donell

(B) Robert Tanenbaum

(D) Douglas McGregor

38


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

e

GET IT ON
Google Play

66. T T & S & % ‘WIETH® S o HAGIOT 3CeTA o RN 8 THEIRA 6l @ 7

67.

68.

Which of the following is not related to ‘Affective Domain’ in Bloom’s taxonomy of behavioural

(A) SRR T (B) Irgfshan sht
(C) HH-== (D) H&wl el
objectives ?

(A) Receiving (B) Responding
(C) Coordination (D) Valuing

wTsfeRaet fenfem fored avafm 2 2
(A) Faq AT oo o
(B) Truer wa Tmer HouRA o
(C) TT=FTCH TF ANTcHe HodTehd &
(D) frepe Teffa qoiea &

Michael Scriven was associated with
(A
B

©

(

Continuous internal evaluation
Absolute and relative evaluation
Formative and summative evaluation

)
)
)
D)

Criterion-referenced evaluation
fergererfarar <1 wdtegor-ge:adveqor fafer st 3w B 2
(A) TR o= & o
(B) T9qeddT WY & ford
(C) feorar wa geuran AT & ot
(D) ATt G A & fot
Test-retest method of reliability is used for
(A) Measures of stability
(B) Measures of equivalence

(C) Measures of stability and equivalence

(D) Measures of internal consistency
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69.

70.

71.

GET IT ON
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feret weh gfg wlieror aun weh ucifelr wlieaur % Hey UgErEY 1 A .74 B | 39Y 9 1 UAT Tofdl 8

(A) IuATey TieTor shl |Hed! Sedr i

(B) dfg wiegur it wfersrshyATenss A4
(C) wierort <t fergamiaar &t

(D) Wit <t TEATCHh (hegeRe) AT

The value of correlation between scores on a test of intelligence and an achievement test is .74. It

indicates

(A) Concurrent validity of achievement test
(B)

(C) Reliability of tests
(D)

Predictive validity of intelligence test

Construct validity of tests

= 9 | wi-a1 feufa g a7 7

(A) SECTT
(C) AEHH

Which of the following is a measure of position ?
(A) Mode
(C) Mean

HISATE TR TG Tadied &mar s T W i @
(A) Thegor 6t fevaErEaT T i & ol
(B) Tdiequr 1 Aurar [d HH o o
(C) Tereft srfergfer wToAT % ug-ferveror g
(D) foreft Suetfeyr wdieror & ug-fevetwor 3

(B) wfEdehT o FepeT
(D) Tfasrares

(B) Median and Kurtosis

(D) Percentile

Difficulty value and discrimination power are calculated for

(A) Finding out the reliability of a test
(B) Finding out the validity of a test
(C) Iltem analysis of an attitude scale

(D) ltem analysis of an achievement test

-20-
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72.  Z-9Tdieh ! T-UTedieh § ufEfdd e < foe 97 2

The formula for converting Z-score to T-score is

(A) T=10+50Z (B) T=50+10Z (C) T=100+50Z (D) T=100-50Z

73.  afermm St wfskam w1 Ot i % ford foh wehR &1 WoareR fepam ST B 7

(A) AT HeTeh (B) TTEHTHS HToh
(C) FremTere qeaieh (D) FNTTeeh Heieh
Which type of evaluation is used to monitor the learning process ?

(A) Placement evaluation (B) Formative evaluation
(C) Diagnostic evaluation (D) Summative evaluation

74. Tgr foren Aifa 2020 % Ir=Ta ‘ST SRR W fHi 2g wRnfed wiew @
i e
ii. @4
iii. W@
iv. TR

HE I T =T R |

(A) i, i, 3 iv (B) i, ii, 3T jii (C) ii, i, 3T i (D) i, iii, 3T iv
For creating ‘Virtual Labs’ as per NEP 2020 platforms to be used are the following
i. DIKSHA
ii. SWAYAM
iii. PARAKH

iv. SWAYAM PRABHA

Choose the correct answer.
(A) i, ii, and iv (B) i, ii, and iii (C) i, iii, and iv (D) i, iii, and iv

75. gt Rreror wfawe % wfaares &

(A) TEE T (B) &, Th. ferm
(C) Ui . fiered (D) STTag qem et
The propounder of Basic Teaching Model is

(A) Robert Glassor (B) B.F. Skinner
(C) Thomas F. Gilbert (D) Joyce and Weil
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76.

77.

78.

79.
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T RIET WEH & o o7 IRA g 98 USehedl detse Il ‘UgHe' A & ST STl &, €&1fua

o T
(A) 2002 T
(C) 2005 T

(B) 2004 T
(D) 2006 T

First educational satellite called ‘EDUSAT’ to impart distance education was launched by India in

(A) 2002

(C) 2005

MOOC %1 0l &9 8
(A) | 3T AT g
(C) TigA AT% TS HIE
What is the full form of MOOC ?

(A) Mass Open Online Course
(C) Model Of Online Course

‘sl - 3rfrsk i sree feam
(A) &t Th. fem g
(C) T T. I3 g

‘Branching Programmed Instruction” was given by

(A) B.F. Skinner
(C) Norman A. Crowder

(B) 2004

(D) 2006

(B) Bftre 3N AT g
(D) Bfta TS A9 B

(B) Massive Open Online Course

(D) Massive Online Open Course

(B) UTHE Uh. fieted g
(D) S.4t. fraasiE gra

(B) Thomas F. Gilbert
(D) J.P. Guilford

“ gt e stferm o aRfefaEl o SeTies [ o feror qun wRkieger i yuTeRiierar seH &g
IURT T TI1eaT Teheeh! Shad 817 918 e foheeht 8 7

(A) st =i afom
(C) &5 . . f=mvg

(B) Sft. 3. wh. iy

(D) 3. U. shiad

“Educational Technology is the application of scientific knowledge about learning and the conditions of
learning to improve the effectiveness of teaching and training”. Whose statement is this ?

(A) B.C. Mathis

(C) W.K. Richmond

(B) G.O. M. Leith

(D) R.A. Cox
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80. F — I T FH — 1l I gAfera HFT |

T - | -l
a. M fqame™ somed . HeIerR ST
b. ey T Il A4 - 2020
c. ¥R I T Hid lIl. ISR T
d. SB-3eweli ferammerm IV. TA.H. 3. — 1986
smnfglad & 1o 3T T -
Ay a=lll b-IV ¢l d—I
B) a-ll b-IV  c-I d-1i
C) a=1  b-1i c—ll d-Iv
D) a=Il.  b-—1 c=IV  d-li

Match List — | with List — 1.

GET IT ON
Google Play

List -1 List -1l
a. Common School System I. Mudaliar Commission
b. Navodaya Vidyalaya II. NEP —2020
c. 4 Year Undergraduate Course Ill.  Kothari Commission
d. Multipurpose Schools IV. NPE - 1986

Choose the answer from the following :

(A a-1ll b-IV  c—l d—|
B) a-=ll b-IV c-I d—1i
(C) a—1 b—1I c—ll d-1IV
(D) a-Il b—1 c—Iv  d-li
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81. TA.E.Ml. 2020 ®E=yH R W freror 7q fafee faftrn o6t s % forw fawricer st 2
i, @ fafa
ii. = fafy
iii. TTrtety fafy
iv. STRIshATH oY

fr=fafad o @ w8 fases 94 |
(A) i, i 3T ii (B) i, ii 3T iv
(C) i, iii 3T iv (D) ii, iii 3T iv
NEP-2020 recommends various teaching methods at foundational stage
i. Play method
ii. Lecture method
iii. Activity method
iv. Interactive method
Select correct answer from the following.
(A) i, i and iii (B) i, i and iv

(C) i, iiiand iv (D) i, iii and iv

82. T o @ fopm wiufa = wftaea 1 sfids ‘Tada o wemgds wve g@a dEmEd’ o ¢
(A) T Hiufd
(B) W |fufy
(C) TwHfd [t A
(D) ST I wiHfd

Report of which of these Committees was entitled ‘Towards an Enlightened and Humane Society’ ?
(A) Hartog Committee
(B) Kher Committee
(C) Ram Murti Review Committee
)

(D) Janardan Reddy Committee
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83. T # & form ‘TUsdiy Aferk qep-iiehl B G S 1 TS TEqA foRaT @ 7

84.

85.

(A) TE.9. — 2020

(B) T faranr fifq — 1986
C)

D) T Hikd!

Which of these has proposed to create ‘National Educational Technology Forum’ ?

(A) NEP -2020
(B)
(C) Ram Murti Committee
(D)

National Policy on Education, 1986

Sachchar Committee

e & ‘AT sorehalg whin’ <t T 61 oft

‘Operation Blackboard Scheme’ was recommended by
(A) Sargeant Plan
(B) NEP —2020
(C) National Policy of Education, 1986
(D) Yashpal Committee
3.1, -2020 7 Torenera e & wum o= ot & 99 fe
(A) B3I frem
(B) I& werfires forem
(C) st farem
(D) Trufires farem

NEP-2020 named the first five years of schooling as

(A) Foundational Education

(B) Pre Primary Education

(C) Basic Education
)

(D) Primary Education
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86. ‘SHATf=Ieh—"ANTNehdl o faeht@’ ! ferer 3eva & &9 § forg st 3 fawrfoer 6 off 7

Which commission recommended ‘Development of Democratic Citizenship’ as an educational aim ?
(A
(B

) Hunter Commission
) Sadler Commission
(C) Mudaliar Commission
(D) Radha Krishnan Commission
87. ‘mHTES fammer wuft foenfdet % omw % ford wm= foaner § qAfifia St a9 @ e B
HIT Hd & '-T8 HoH fhaept & 7
(A) &t (B) T
(C) =T (D) fora w &0

‘The inclusive school demands reconstructed educational thinking and practice in regular schools for the

benefit of all students”. Whose statement is this ?
(A) Slee (B) Specht
(C) Lupart (D) Smith and Marry

88. ‘ffafcresm wRfRm e sftea wae’ form o & srfufafia gam ¢

In which year ‘Rehabilitation Council of India Act’ was enacted ?
(A) 1986 (B) 1992
(C) 1995 (D) 2009

89. HHTISM f31&T & S BT I ?

(A) 3218 (B) q=H
(©) & (D) glera
Who is the father of Inclusive Education ?

(A) ltard (B) Louis
(C) Howe (D) Sullivan
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90.

91.

92.

RPWD T#e & 3R fmfafad # & #- feufa gfeed & fod st 2 7
(A) 3fEe =1 IfTeR 31wTa

(B) gfse % & 1 30 fexft & whivr e wifia o o for Fwifia

(C) gfee femrar 2/60 @ &1 7

(D) SEM 3@ H g9 AT 10/200(FeH) § HH 7

According to RPWD Act, which of the following condition is suited for blindness ?

(A) Partial absence of vision

(B) Limited in the field of vision subtending an angle of 30 degrees

(C) Visual Activity is less than 2/60

(D) Visual Activity is less than 10/200 (Snellen) in the better eye
ofeafedt @1 T G R

(A) 7€ fegt & (B) I H

(C) <gugd | (D) SR &
‘The National Institute of Visual Impaired’ is situated in

(A) New Delhi (B) Pune

(C) Dehradun (D) Jaipur

TG Afehed 1 oY 3TE i . wiee faenfaa fohar
(A) .8 g
(B) ST wewersin g
(C) . Heio® gl
(D) 3. faferm g

CIPP model of curriculum design is developed by
(A) B.S.Bloom

(B) Daniel Stufflebeam

(C) J. Kellangham

(D) J. Willium
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93. foanerft urgm=at TaN it qwEst, yateR ud 3nesit i ufdswn ® | a8 fohwe w7
(A) 1 i (B)
(C) . Sfi. deH (D) et
“The school curriculum is the reflection of the traditions, environment and ideals of the society”, whose
statement is this ?

(A) Duncan Grizzel (B) Kerr
(C) K. G. Saiyidain (D) Dewey

94. T, H. k. . 3. (2009) I 6T TE
(A) @ Ht. 3. AR AL gr (B) WH. 3TE. AR, Th. g7
(C) . /. & 5. g (D) WA. W, U. Hi. g
NCFTE (2009) was published by

(A) NCERT (B) NIRF
(C) NCTE (D) NAAC

95. WAl I STkl IWET h fafaear va srwal i Iugedar dger=R o & fhd @ %

F=i 3 8 7

(A) ST TTevERaTsn H TgEH

(B) 3T 1Yl 1 T 37 TS

(C) Taw=-a%g =1 === @ ged

(D) HEAHA
Comprehensiveness of experiences, variety of experiences and suitability of experiences come under
which step of curriculum development ?

(A) Identification of educational needs

(B) Selection and organization of learning experiences

(C) Selection and organization of subject matter

(D) Evaluation
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96. T % MU W urgEEEl #1 SAfieheda A& foRn S wehan B

(A) foreq (B) 3TfermH wfawhet
(C) W. . u. Hl. % feumfgw (D) &I
Curriculum cannot be designed on the basis of

(A) Craft (B) Learning outcome
(C) NAAC guidelines (D) Competency

97. ‘wTewishA s % Horer wfaw 1 fepam feam 2

(A) Teeer aran (B) e
(C) 3AetteR (D) TR, TAFAVEL TS oAferd

Who has given ‘Grass Root Model of Curriculum Development’ ?

(A) Hilda Taba (B) Taylor

(C) Oliver (D) Saylor, Alexender and Levis

98. frfeifad & & H-1 TS ITSw=>l W@, 2005 % =T ISy fashrd &
fraren fogra & aftufora 78 § 7
(A) T @1 ardfees Sfad o 3ETEN | SIS
(B) wiena3Ti bl Hen o™ & Sfiaa & e
(C) UTGIshH ol 30 TehR Hellad Ul foh UTS=IqEehl o JAfeiierd i ST e 3erewor fedl o1 @eh
(D) I gfeaa e foh i gera: fowa-3m w snaia &
Which of the following is not included in guiding principle for curriculum in the National Curriculum
Framework, 2005 ?
(A) Connecting learning to real life examples
(B) Integrating examinations with class school life
(C) Enhancing the curriculum to provide knowledge and examples beyond textbooks

(D) Ensuring that learning should be totally based on content knowledge
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99. T & H-T1 UreT=Al Youiehd % Wb Aigd ¥ T T8 § 7
(A) &Y
(B) Hferer JTgwEl I U=
(C) Gvfaa wd |fsharceh dTg=r==i
(D) FHfIq ST ATEdfaeh TROTH

Which of the following is not related to Stake’s Model of Curriculum Evaluation ?
(A) Pre-requisites
(B) Identification of educational experiences
(C) Potential and operational curriculum

(D) Potential Vs actual results

100. ‘UTGTEl fiehed T JITEA TG Ui e 8
(A) W faga ®
(B) B&¢ T g1 fifgd of@ W
(C) et & e a3
(D) e o f3req asia o

‘Discipline Based Model of Curriculum Design’ is based on
(A) Bruner’s principle
(B) Article written by Herbert Spencer
(C) Dewey’s philosophy of Education

(D) Froebel philosophy of Education
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Space for Rough Work
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Subject Code : 38

Subject : Education

Roll No. (In Figures) :

Roll No. (In Words) :
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INSTRUCTIONS FOR CANDIDATES

1. There are two Parts in this Question Booklet. The first part of which contains a total of 30 questions related to General
Knowledge.

. There are a total of 70 questions related to the optional subject in the second part of this Question Booklet.

. There are 100 question items given in this Question Booklet. Each question item is printed in both Hindi and English.
Four options are given for each question. Choose one of these options which you want to mark on the Answer Sheet.
If you feel that more than one option is correct, then mark the option which you think is best. Only one option has to
be chosen for each question item.

4. Immediately after the commencement of the examination, you must check the Question Booklet to ensure
that there are no unprinted, torn or missing pages or question parts etc. in it.

. Candidates should open the seal of the Question Booklet only after being instructed by the Room Invigilator.

Before answering on the Answer Sheet (OMR Sheet), the candidate should carefully read all the instructions in the

Question Booklet and Answer Sheet.

7. The candidate must write his/her roll number, subject, correct question paper code, number of answered questions
and number of unanswered questions neatly on the Answer Sheet (OMR Sheet), otherwise the Answer Sheet will
not be evaluated and the entire responsibility will be of the candidate himself/herself.

. The candidate has to darken only one circle or bubble indicating the correct answer on the OMR sheet using
black ball point pen only. If more than one answers are marked, it would be treated as wrong answer and it will not
be evaluated.

9. Once answer is marked in the Answer Sheet (OMR Sheet), no change is permitted.
10. Candidate should not fold the Answer Sheet (OMR Sheet).
11. You are to mark your answers on Answer Sheet (OMR Sheet) only. When the examination is over, handover the
Answer Sheet (OMR Sheet) to the Room Invigilator.

12. In case of any discrepancy between the Hindi and English versions, English version will be taken as final.

13. If any candidate uses or attempts to use unfair means or creates any disturbance in the examination hall, he/she will

be disqualified from the examination.

14. No candidate will leave the examination hall until 120 minutes (two hours) are completed.

15. Rough work, if any, should be done on the blank sheets prescribed for this purpose only. No extra sheets will be

provided.

16. Use only black ball point pen for writing your roll number etc. and for filling in the answers on the Answer Sheet

(OMR Sheet).

DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.
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